
174 Dr REBUILD  Cre dit Card ORDERING ONLY on (800) 8669  DOC
Wiper Actuator Hoses

Se le ct th e s e  Re d or Gre e n h os e s  by noting th e  location of
your w ipe r re lay:  68-Early 69  or 71 if th e  re lay in locate d on
th e  RH  inne r fe nde r s k irt;  Late  69 -70 if locate d on th e  LH
fire w all.  Se e  Ins e t - include s  rais e d ribs  and 9 0 de gre e
m olde d e nds  as  factory.  Th e s e  h os e s  are  include d w ith
our Molde d Vacuum  H os e  Kits . Z ip doe s n’t e ve n h ave  a
clue  about th e s e  and oth e r diffe re nce s .
68-Early 69  or 71 w ith  W ipe r Re lay on RH  Fe nde r

w ith  One  End Molde d at 9 0 De gre e s .
A Re d Stripe d Molde d H os e 2777510 14.00
B Gre e n Stripe d Molde d H os e 2777512 14.00

Late  69 -70 w ith  W ipe r Re lay on LH  Fire w all  
w ith  Both  Ends  M olde d at 9 0 De gre e s .
C Re d Stripe d Molde d H os e 2777514 16.00
D Gre e n Stripe d Molde d H os e 2777516 16.00

Check Valve, Filter & Clips
E 68-82 Vacuum  Filte r

Filte rs  out particle s .
2771112 10.00

F 68-82 Ch e ck  Valve
Th re e  port  Z inc cas ting.
A le ak y valve  w ill caus e
th e  h e ad lam p or w ipe r
doors  to pop ope n w h e n
you s h ut off th e  e ngine .

2771113 19 .9 5

TIP  ?
F 68-82 NOS Ch e ck  Valve

Factory cas t Trico. Only ge t
th is  if you are  ch as ing s h ow
points .  (s e e  pre vious  part)

2771225 50.00
G 68-82 Ope n Style  3” Long Vacuum  H os e  Clip

Rubbe r cove re d, m ounts  on th e  LH  fire w all &  LH  inne r
fe nde r s k irt.  Se e  q uantitie s  be low . 2771110 5.85

H 70-82 Lock ing Style  3 1/2” Vacuum  H os e  Clip
Rubbe r cove re d, m ounts  on th e  LH  fire w all &  LH  inne r

fe nde r s k irt.  Se e  q uantitie s  be low . 2771114 9 .9 5

68-72 Wiper Door Actuator
I 68-69  “Tin Can” Style  W ipe r Door Actuator

Se le ct from  2 Actuator Rod Th re ad Siz e s ...
Early 68 w ith  1/4-20” th re ads 2777220 19 9 .00
Late  68-Early 69  w ith  5/16-18” th re ads 2777221 19 9 .00

J Late  69 -72 “Pie Pan” Style  W ipe r Door Actuator   
Se le ct from  th e s e 100%  auth e ntic De s igns ...
Late  69 -Early 71 w ith  Straigh t Pipe 2777224 121.00
Late  71-72 w ith  9 0 De gre e  Pipe 2777225 121.00

70-72 W ipe r Actuator h e x Mounting Nuts  w ith  inte gral s tar
w as h e rs .  Pair.  Doe s  one  car. 2771310 1.50

K 68-72 Front Snap-In Plug 2771312 12.00
LLate  69 -72 Pie Pan Actuator Rod Rolling Grom m e t Se al

Th is  cone  s h ape d grom m e t is  ofte n a s ource  of th e
actuator vacuum  le ak s  and include s  ins tallation
ins tructions . Made  in USA 1014670 13.00

69 -72 above  Grom m e t  Im porte d 1014568 12.75
M 68-72 Actuator Rubbe r Accordion Boot

Molde d rubbe r accordion s tyle  dus t boot.
Note : Factory draw ings  are  not accurate , clam ps
w e re  Not us e d on th is  boot. 1014666 11.00

www.DocRebuild.com

N 68-72 W ipe r Door Bus h ing 10 Pie ce  Se t
Molde d plas tic . Us e  4 on w ipe r door to cow l link age ; us e
2 on th e  w ipe r actuator rod; us e  4 on th e  actuator.
Doe s  1 car. 1014668 9 .9 5

O 68-72 Actuator Adjus ting Nuts   conne cts  th e
actuator to th e  w ipe r door m e ch anis m  &  h as  LH  th re ads  
at one  e nd &  RH  at th e  oth e r e nd.  Se le ct from ...

Early 68 Adjus ting Nut w ith  1/4-20” Th re ads
Th e s e  are  not re pro, th e s e  are  NOS &  e ve n include  
th e  Gre e n Ins pe ction Mark . 2771316 25.00

Late  68-72 Adjus ting Nut w ith  5/16-18”  
Th re ads 2771318 19 .50

68-72 Rod Nut  tigh te ns  th e  Adjus ting Nut
68 Actuator Nut  1/4-20” 2771326 0.9 0
69 -72 Actuator Nut  5/16-18” 2771328 0.9 0

68-72 Wiper Door Switch
P 68-72 W ipe r Door Sole noid Sw itch

Ope ns  th e  w ipe r door w h e n th e  w ipe rs  are  turne d on.  
Mounts  be h ind th e  tach om e te r.  Colore d dots  ide ntify
th e  ports  for vacuum  h os e s  conne ction.  Note : Th e
port cove re d w ith  a foam  filte r is  not conne cte d to any  
h os e s .  NOS 2771407   Dis c

Q 68-72 W ipe r Door Lim it Sw itch  Only w ith  W h ite
pus h  button; Mounts  to th e  le ft of th e  w ipe r actuator on
th e  fire w all.  Ge nuine  GM 1014671 30.9 5
Re place m e nt Lim it Sw itch 1014575 27.50

Solde r th e  follow ing H arne s s e s  to th e  above  Lim it Sw itch .
68 Sw itch  H arne s s  w ith  Plug 1014750 23.00
69 -72 Sw itch  H arne s s  w ith  Plug 1014752 23.00

R 68-72 Lim it Sw itch  Mounting 6 Pie ce  K it
Include s  2 fine  th re ad m ach ine  bolts , 2 nuts  &  2
s tar w as h e rs .  Doe s  1 car. 1014514 2.9 5

?  NEW  Fully Illus trate d...
68-82 Vacuum  Sys te m  Trouble   
SH ??TING Guide   ©  e xplains  h ow      
to diagnos e  e ach  com pone nt part for
prope r functioning.  W h y pay $ 9 .50
from  Ble m  Products ?  2777555 3.95

68-72 Wiper Door Mount
T 68-72 W ipe r Door to th e  Cow l Link age  Mounting 

3 Pie ce  Gas k e t Se t
Die  cut Black  s ponge .  Doe s  1 car. 1014664 3.50

U 68-72 W ipe r Door or Actuator Sh oulde re d Mounting Bolt
Us e  1 on w ipe r actuator cle vis ; us e  4 to m ount th e  
w ipe r door.  USA 1014667 5.9 5
Mounting Bolt  Fore ign. 1014567 4.00

V68-72 W ipe r Door Rubbe r Bum pe rs   Pair
Molde d rubbe r pair w ith  2 pan h e ad s h e e t m e tal
m ounting s cre w s .  Doe s  1 car. 1014538 5.80

68-72 Wiper Safety Switch
W 69 -72 W ipe r Door Safe ty Sw itch   Delco

Mounts  ne xt to th e  RH  w ipe r arm  to pre ve nt th e  w ipe r
door from  clos ing if th e  w ipe rs  are  ope rating.  All vacuum
ports  are  ide ntifie d w ith  colore d dots  to aid prope r 
vacuum  h os e  h ook -up. 2771405 57.60
Repro W ipe r Door Safe ty Sw itch 2771410 33.00

69 -72 Safe ty Sw itch  3 Port Grom m e t  th e  righ t
one , not a Fore ign re place m e nt. 2777120 9 .80

X 69 -72 Safe ty Sw itch  4 Pie ce  Mounting K it
Include s  2 s cre w s  &  2 U-nuts . 2771322 2.80

68-72 Wiper Control Switch

Control Sw itch e s  m ount unde r th e  s te e ring colum n and park
th e  w ipe rs  in th e  ope n pos ition for s e rvice .

68-72 auth e ntic round Control Sw itch  Knob 2771226 15.50
Y 69  Control Sw itch  no AC  NOS 1014xxx   Dis c

68-72 Control Sw itch   Re place m e nt 1014678 17.9 5
Note on 68-69  th e  s w itch  plug in arrange m e nt is  diffe re nt
Z 68-72 Control Sw itch  NOS  for 70-72 1014679 20.00

68-72 Control Sw itch  to Das h  Mounting Kit
w ith  jam b nut &  s tar w as h e r. 1014516 4.9 5
68-72 W ipe r Door Ele ctrical Re lay  allow s  th e  w ipe r
m otor to park  th e  w ipe r arm s  for door clos ing.  Mounts
unde r th e  forw ard s h ifte r cons ole . 9 220424 16.00


